M8 - 9.0 - Graphing Review

_ .. 1| Graph Steps
SIopi Intercept 1) Ploty-int =@ x y x y
y = mx +b 2) Use Slope —2 -3
7 _ R Find Equation (2.4) -1
slope y-intercept 1) Find y-int (xl )
(0.b) 2) Find Slope Y

: (x1,71) (x2,52) y==—x+1
— 2
Slope =m = ISe _Ya= N 54) (=23) 3
run Xy — Xq Increments of x
Draw a Graph and Count! by denominator
of slope away
_\( y X= from zero. Or y-
Am=0 coefficient.
< *—0>,=2 o
x € (12) G2 1, )x
Up to Down to m = und
Right Right \ 4
y=mx+b
Parallel Ay
Same slope Perpendicular 90° m=— 1 y=qx+b
_ Negative Reciprocal Slope -
m=m m x y
0 b
Ax 1 3 Ay
Slope-Point (X1, Y1) Graph Steps Ax 5 5 Ay
(35 1) Plot Point
— = m(x — x 2) Use Slope Ax
y ﬂyl ( 1R) Find Equation Z} Consistent”
y coordinate  gjope x coordinate 1) Find Point y=b;x=0!
2) Find Slope ’
General/Standard X y
Ax + By = 0 Step 1: Find Intercepts
0 y —int:x = 0(0,y), put zero in for x and solve

x —int:y = 0 (x,0), put zero in for y and solve

Ax+By+(C =0

vy (Output)
No Fractions JY
X term positive (0,3) Qxl ) y depends on x!
Xy =0 I (23)
©0.1) .
A . C e x (Inpub)] 10 |
m= _E y—int = iE 21 (210) (4]0) Sklp
° 2 101 Increments
A C (-4-2) ;|
y=——x*x— 4
B B
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